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*3-24. Blocks D and F weigh 5 Ib each and block E weighs 8 Ib. *43-28. A car is to be towed using the rope amrangement shown.
Determine the sag s for equilibrium. Neglect the size of the pul- The towing force required is 600 Ib. Determine the minimum
leys. length £ of rope AB o that the tension in cither rope AB or AC does

. ) ) not exceed 750 Ib. Hint: Use the equilibrium condition at point A
3-25. If blocks D and F weigh 5 Ib cach, determine the weight

" ‘ to determine the required angle 6 for attachment, then determine /
of block E if the sag s = 3 ft. Neglect the size of the pulleys. using trigonometry applied to triangle ABC.

Probs. 3-24/3-25

3-26. A vertical force P = 10 Ib is applied to the ends of the 2-ft
cord AB and spring AC. If the spring has an unstretched length of Prob. 3-28
2, determine the angle 6 for equilibrium. Take k = 15 Ib/ft.

3-27. Determine the unstretched length of spring AC if a force 32 The sling BACs used to lift the L00-1b load with constant
P = 801b causes the angle §  60° for equilibring, Cord A7 5 l0¢iy. Determine the force inthe sling and plot it value 7 (ordi-
21t long. Take & = 50 Ib/fc . nate) as a function of its orientation 6, where 0 = 6 =< 90°.

100 Ib

Probs. 3-26/3-27 Prob. 3-29





